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Teansformations of Quadradics
© 0= -3(c-2)" @ flK)= £(xe2) +3
Sift ight2, shvefch, JY Shift left, w3, shrink 1}
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[hew-A]  Chafocteristies of Guidrabics
- Dovagtin < he seb of x-values (how far tekt o rigt the giaph somms)
'Row\ﬂe‘. the cet of 3‘\/#\&\1&8 (how Iw down +o up the quL»SPM\S )
- Zens: the x-infefieptls) of- the gmen (@b called Vosts or solidians)

* Y- (nkercept © Bhe point where the grgh ciosses The - axis

, . VWX M
“Exdvema toe vwdmuam or minfmam polnt o Vit

- \nferval of (norease: the set of x-values where the slvp7 are Fos&h’ve.j
Inkerval of Decrease: the ¢et of x-valwes uhere the dipes Are {\'ejg(h,vel&
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[Exmnples] fmswer awh iy the graph.

10) Domain: (-00,20) br1R b -0 <x<0
1b) Range: [0 Q) or Y20

Ac) Zows: (2,0)

14) Y-inforept: (0,2

le) Extvema: (2,0) & Minimum.
1) Idorval of [naenser (2,00)

1g) Intorval of Decrease: (=,2)

1h) fixs of Symmetry® x=2

1) Vertex: (2,0)

2.0) Dovnain: (-0,20) 0r1R or - <xz=s  (2)
2 b) Ra,v\_ge,: E—Ql.a) oy 52_2
2c) ans;qm%f,o)/ (3,2)

24) Y-intorep: (0, -2)

2'3 Exdvema: (0,-2)

2.£) Interuad of naeaser [0, )
29) Intoval of Deuease: (=2, U

@

2h) Axis of Symmetry® <=0
20 \/echoc.:‘lj(Dl-g)

1) Domain: (-00,70) br 1R or -0 <x<e0
1b) Raw\_ge,l (-OQ,Q.J
Ac) Zers: (-3,0), (-1,0)

_Mg W -inforept: (0, - 4)

AN

le) Extvema: ('212>

1£) Inorval of [ngresser (- ,‘73
ﬁ.g% Interval of Deq{:g&e: (‘2,90)
1h) Axes of Symmetry® x =-2

Lh) s o
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Quadrac Finctions Rate of Changg
Let’s consider the finetion £00=)X2-1 Gmph the funchion X detenmine the

ride of change being Asked.

Find the 1ite change betw
® (%,—1) tihd (ﬂz,s’ﬁmgtz il

m=Y,-Y, - 3-91)_

f —

X=X, 2-0

Nl

=@

(&) find the (ite change between
Bl@ ahd ('21 3)

= -Y —____3_8:—__5_:—5
o=t $-60

» Quadratic Fimebions do ot have Constant ritfes of change
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Let's consider the three funotions = ()= 2x+1, g(x)=2%
Who wins? Which funcon will Wave Hhe highest §-Value?

Let's use analglical, approach 1o analyze,

X [ | 4K

0 1 1

1| 3 2

2 S i

3 7 s

4 9 16

s | 11| 32

b | 13| b4 «—— Exporental, begins
7 | 15| 1% 4o tead here
¢ | 17| 256

9 19 | sla

1o | 21 | 1024

15 lace. » Exponendial Funchons starts oFF slower, but: everll
iv\tﬁensmglg exceeds both Ll?(éar & Quad rahic Fv\ndigne.

2" olace = Quadrake s everdually incersing exceeds Vi Funchions
Last Plnce o Linear fundbons have a congtant rafe O‘f CMMC and wl|

%&\m\% mwj s aging- Exponential, & Ouadraic
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